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Write your roll number on question-paper before start writing answers of questions.
No supplementary answer book will be given to any candidate. Hence the candidates should write their

answers precisely.

Part - A shall contain question No. 1 consisting of very short type X (Ten) questions. The candidate is
required to answer each question in 20 words.

Part - B shall contain question No. 2 consisting of V (five) questions. The candidate is required to answer
each question in 100 words. y A --"

Part - C shall contain 3 essay type questions (one from e?lch section) with internal choice.
Attempt Five question in all. All questions of Part - A and Part - B are compulsory while rest 3 questions

are to be attempted from Part-C, selecting one question from each section. All question carry equal marks.

PART-1/ {111
Q.1 Answer the following -

frforRaa & ST IfSig — |

(i) /Find Rate of Commodity Substitution for Utility function U = f (qu, qo).
U = f (q1, q2) SYAIRIGT Belv & fog a&] & bl X S DIVT |

(1 What do you understand by Ordinary Demand ‘unction?
AR AT G 3T 7T W 87

/ﬁi) Explain the meaning of R.S.Q.C. |

R.S.Q.C. & 3f & @ I |

}"3 What do you mean by C.E.S. production funct
IS0, ST Bor & ger qar AT &

/ Define Expansion Path. ‘
ERSSIN

Ul b1 gRAIYT iR |

Mhat 1s Elasticity of Substitution?
TR &1 &g gy 27
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(vi2) What do you mean by Transactiop
- AT W T Ry e

(viii) Define Technical Coefficient. . #i;,_ |
&y IO DI TR ﬁﬁm

WXplam the meaning of Saddle Pomt » non
Jea—g e & 3 & FzRy |
} What do you mean by Hawkins — Sjmon conditions?
RIRPA—WTEF A Il & aue ) S 87
PART- ‘ "’IT‘T—II
Q2 (i) Show that in two commodity case both goods can not be inferior.
ﬁ"i?&' BT & < Iegeil 1 Refy J [ o afear w81 81 Foall © |
y/Calculate Elasticity of Demand lf an &cmand function x = a - bp.
IfS 41T B x =a-bp &, a’rvma‘»’taﬂa'snaa%‘rml

Demand function of a monopolist P = _ 20 - 4x? and marginal cost P' = 2x + 6,

then calculate consumer’s surplus.

e TSGR & Iaa JT Bels P = 20 - 4x2 3R G AN P =2x+6
21, A wwa @ T PuiRa AR
(ivf Derive the First and Second order condition of Profit Maximization.
/ aﬂwwaﬁm{ fod 9 3 wdl &1 ey BT |
(yf ToProve— AA =AA =
1 2 o] 8.
If A=[2 3 1]

0 1 1'~f

Rig PIfSTT — AA=AA=A?

128 a -.

e A= [2 38 u] ‘*,
o g

oty ; T-111 / A1
\ 3“ 9
tion-A / TUs—3

Qﬁ/ﬂ(Maxumch ir,l‘. =z4,P2=?10andy=?200. [S]

U____ql_qz,Pl=4?,P2=10? a2l y=200? %'

Derive the .i
from the following | [15)
Fr 3 9 AR 3 o EifeTIR® FAT G frofia #ifg —

_ 03 078
U=x77"x3"

1 Function and the Compensated Demand Curve

M=P|X1+
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(1) Given Utility function U =
find out :
(a) The optimum values of 1
(b) Level of Utility
(c) Second order condition

ST Bad U = q}s.q2 !
aﬁm -

[15]

(ii) Derive the Marginal Utility of Money. [S]
ST DI A< SYARGr B A0 SR |

Section-B / Evs—9 wa

o
s 4

-
sy

(b) Derive the product maximizing first and second order conditions
i 3% fi
entrepreneur. Give an economic mterpretatlon of second J,J der co 0

s Sad B fore SeuTeH G aHaERT &) woH 'q' HH @l Idl d Fay

/ 9 ,"-»' N
e 4
o R
v 4

=

(1) Show that in CES production function if e = Ojfthen it

production function - |
Q=A[BK ™+ (1-8)L*] e l

I8 ¥y f& PR CES SdrEd Hod A "
%o # uRafdd & orar & — |
Q=A[d K-e 4 [ae 6)L‘e]-1/e
(i)gBenve cost Mucoy) fOI Cobb-Douglas produ
T TR W W @ ferg e el




* equilibrium from the following

@3 Section-(

Q.5 /i) Derive the equilibrium price anq ,

‘..
n.’. 4

demand and supply functions. L15]
Di=18 - 3P,
St=-3+4P-1
P st 9 off wel ERT WY ¢ ,ﬁmﬁmﬁaﬁm'
D= 18 - 3P ‘,
St=—3 +4P(-1
(i) Final the solution of the game, whe ) ‘,, off is given. [S]
A BT & S DY, & A Bl ﬁmw%|
8 710
10 9 12|_
11 5 9
r-«r" ..
A= [12 13 6
| 11 10 9l
(i) What are the assumpti oI 'of Input f' t analysis? [S)
APt RTeer @1 HIRA aa.: ‘
(1) If technological Malnx A ven as - [10+2=12]
T qHHIDY ﬁﬁ:m A = 2 -
02 03 02]
A=104 0. ;_’-f-;"
The final demand of in 3 sectors are 20, 10, 12 unit respectively. Find out
the gross output w P sector and inter industry demand Matrix.
eﬂqéﬁ;ﬁm’ j e HHTT 20, 10 TIT 12 SHIEAT &, O D &
BT ool , wrr Afgd ST DI |
(111) Explam Ha“! “" 3 S-Simc bility condiﬁOHS. | [3]
Bl T @ < oo el DI |
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X-Paper .
(Public Finance)

Time: Three Hours Maximum Marks: 100
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Wri ) b
rite your roll number on question-paper before start ing answers of questions. No supplementary

an . - ° ; ; { e .
swer book will be given to any candidate. Hence the candidates should write the answer precisely.

Part-A shall contain question No.] consisting of very t type X (Ten) questions. The candidate is

.g»‘i) question No.2 consisting of V (five)

100 words. Part-C shall contain 3 essay

required to answer each question in 20 words. Part-B sh
questions. The candidate is required to answer each que

type questions (one from each section ) with internal cho"
| (i

Aitempt five questions in all. All questions of Part-A ar C -B are compulsory while rest 3 questions

are to be attempted from Part-C selecting vne Guzs tig .I_r;*'%;',;! .eaéh sgétion-x All questions carry equal marks.

PART: W A ; “f,&
i irga s, e » :‘:' [10x2=20)
(i) Public Budget
GIESIECAEN

(11) Positive Science
qredfde fasm

(iii) Progressive Taxation.

ATfereiel HRIRIgoT
(1v) Specific Tax |
fafdre & e

(v) Forward Tax _;‘;jff" |

"t y
{ . b
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(vi) Marginal Social Benef
i arnfore ™

(vi1) Impact of Taxation i‘
PNTHId

(viii)Non Tax Revenue

'.883.3\\.&8#\' PR A
(ix) Direct Tax
320 e o

(x) Goods and Service Tax

a%] T4 |ar TR (S
-B / 9119 [5x4=20]
2 (i) Differentiate between Pu -1 s and Private Goods.
AR awga ol Fiol awgel 3 SR AR |
(i1) Briefly discuss the canons?; f lic Expenditure.
wdvite @ @ Rigidl I weg 3 e AR |
(iii) What is the economic signi' e of Public Finance?
qravife fad &1 e + g7 8 7?

(1v) Briefly explain the concept of B anced Budget Multiplier.
e qmewaﬁaawvnaﬁm?qﬁw@l

(v) Write any four objectives of Fiscal Policy.
o i @ el IR SeEdl B s |
PART-C / 9IfT—9

Section-A / GUs—3]

3. Discuss the theory of Optimal Budgeting wnth the help of equations and diagram. [20]
S HCASL q\ﬂca\»ﬁﬂ@ﬁaﬂﬂﬁwaﬁ“\”} ‘ﬂf%ﬂw?ﬁﬁrlﬁl

- Explain the following: " [10+10=20]
@) Effects of Public Expenditure on Productio R
SIS R AASIS g &1 g91d '

/@ Concept of Least Aggregate Sacrifice

FAdH FHT ATT DI IIGEROT
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| Section-B /g 3 Iy.” [20]
4. /(cidence of tax is decided by elaSticity of g {asticity of supply-
- Explain. r 3
Explain the following: [10+10=20]
(1) Different theories of Public Debt.
[20]
Describe the objectives and effects of Deficit Fina ' the economy. [10+10=20]

FfHaRIT § °Ie B AT Faver @ IwY @ik w T AR |
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Write your roll number on question-paper before start writing answers of questions. No supplementary
answer book will be given to any candidate. Hence the candidates should write the answer precisely.

Part-A shall contain question No. 1 consisting of very short type X (Ten) question. The candidate is
required to answer each question in 20 words in 20 words. Part-B shall contain question No. 2 consisting

of V (five) questions. The candidate is required to answer each question in 100 words. Part-C shall contain
3 essay type questions (one from each section) wi hi

th internal choice.
Attempt Five questions in all. All questions of PartsA and Part-B are compulsory while rest 3 questions

are to be attempted from Part-C selecting one question fi

each section. All carry equal marks.

PART-A / T—
Q.1 )yf Define Natural Resources. ‘
YTpfae AR $I GRATNT BIRTY |
/(é What is Human Development Index?
Aqa A gawie a1 Bidl &7
(i1) Define P.Q.L.L.
P.Q.L.L &1 gR9IYT PIfST |

/(w) Write any two characteristics of developin
Rrrerefier 29 A1 B <1 fRdwarg R |
/Gv) Define N.P.V. /
N.P.V. &I GRAIT B |

}yx’ﬂ What are the main factors of solow growth model?
Il Afed @ J& RS AT 87
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‘ lanced growth
}yﬁ) Write the name of two economists Who supported the ba g

approach.

- t* implies?
H%Taﬂ—dwlqﬂaﬁqmzﬁ T 3¥ehT T Aad Il &7
/é) Define resource mobilization.
PART-B / #F—4 Hif
}é Briefly evaluate Kuznets Theory. '
Boried Rrgia a1 g § e ,&‘m
Q.3 Explain in brief the three core values of ¢ 5-’ opment according to Goulet.

ele & IgaR e & & g1 R —it.; Sfé H HHSY |

}}4{ Write a short note on the impact of glob W\h n
d¥NHIOT & Y9I 91 Al A f%urrvﬁ
}i/(“an the objective of balanced mm !' } chleved through unbalanced growth
1 h »",_‘

,':
.’.

I SRiqfT af Aree W He .,r R g e b 87

Q. Write a short note on Natlonal D‘” | f ent Agenda.
/ NS fddrRy gofer i T &N |
..} R
) '{'_? / -C / 9IT—9

| S C w“. " A / EGUS—3]
Q.7 Explain the dlfferen -15 . SN e conomic development and economic growth. [12]
/’/ 3ol faer 3R 5‘?}; LB 3R 31 AR SV |

8
(by/ Write a short note on struc a.ija‘ nges. (51
Ve " \' ﬁ l

o*‘i / S1Tar

AYIAICHS 9SlTd G ey

1th
Critically evaluate the lmpedlments tq development & their interconnection wi

Human Development. ¥ |

ﬁm$m@mwﬁﬁ;ﬂﬁmﬂﬁﬂaﬂm@ﬁddwmﬁﬁmﬂ
BIFY |
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}yﬁ) Write the name of two econgpig|
approach.

(i If capital-output ratio i 2, what doe 1mp11es‘7

IS NS arur 2 @ T 3T T A Brar 27
A .

Define resource mobilization.

VR e B uRR 3 | ’~+5

't%‘ il e [5x4=20]
PART-'r b e R g
}é Briefly evaluate Kuznets Theory. ¥ e
goHcd Rigia &t '\‘T@ITH f{ ﬁsﬁw ﬂl i .; i

¢ let.
Q.3  Explain in brief the three core values of , by !J #t accordmg to Goule

Tﬁﬁea%mawvfaa?m%‘cﬁag@ : Sfer # Ty |

f;
. '| :

g
1

°t\? g i

AC ""eyed_ through unbalanced growth

eI DI YISy fHar o Hpar 27
ment Agenda. ’
‘;' Y| I
; / HT—Y ‘
-_ / GUs—3]

bnomic development and economic growth. [12]

B T SR B IR W AR |

;
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This question paper contains 3 printed pages.
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Write your roll number on question-paper before start writing answers of questions. No supplementary
answer-book will be given to any candidate. Hence the candidates should write their answer precisely.
Part-A shall contain question No.l consisting of very short type X (Ten) questions. The candidate is

required to answer each question in 20 words. Part-B shall contain question No.2 consisting of V (five)

questions. The candidate is required to answer each question in 100 words. Part-C shall contain 3 essay

type questions (one from each section) with internal choice.

Attempt Five question in all. All questions of Part-A a:(d Part-B are compulsory while rest 3 question are

to be attempted from Part-C selectmg one questzon fhm each section. . ll quesnon carry equal marks.

PART-A / %
L /(1) What do you mean by “Theoretical Econo |
“Theoretical Sgifad AT (Econometn 3

'w :

(ii) Define “Random variables”.
7 .
“Random TRI"~* BT gffa HIfoTg |

S;ii) What is “Statistical Inference”?
“Qtatistical Inference” &l -4

(1 /Y Define the term “Estimator”.
“Estimator” &1 URATRT BIfSTY |

(v) What are “Cross-section Data™?
/ “Cross-section GH® &I 27

i) Define the term “Hypothesis”.
“Hypothesis” (aReeg) @I gRHIEd

3208-X1I-B

} .0 gl oot » \“'0
’ RN AL
._ - '{;M 28t “‘."\‘,: Y “35“\ \(‘].‘
‘. R .’ ) ."., b ,

[P.T.0]




}yh'i)Statc the significance of Q] _g ol a

Ay AS; OLS fafer @ #8<m qamey
PYSU G /&) Define the Gauss-Markov Thegra ‘
Gauss-Markov URT &) tlﬁ'q-rﬁa 18

/(x) Write down the two properties of 2
r &l & fA9yan? qaey |

ce in Economics Discipline.
3 fwa & st gwe wEw B gAY |
/’. Distinguish between statistical and Det tmmlSth relationship.

Statistical 3R Deterministic Wt & e AR TE BIFY |

/ Briefly explain the concept of PRF and SRF.
PRF 3R SRF &1 faaRURT &7 ftra & faxga @iforg |

}/ State the significance of Stochastic Disturbance term.
IR IrET 1 GRiear qd1sy |

/ Interpret the following mod -

CM = 81.794 + 27,237.17 (

()

Where
CM is Child Mortality

CM = 81.794 + 27,237.17 (PG ,

o

uigl

CM R J7ar vd PGNP

Secti ; / LUs—3]
/ How do econometricians procegd n u e ana[ysls of an economic problem? Evaluate
it. g

3 FHT & fagermor § g o ygad ARvil Bl ARG IS |

3208-X11-B

TR

X \ 1 MR
m" m‘:;. Lo
‘L't . k’h‘ .

|
|




q

y )"~

e

l

wing-'
vari
owing-'

- Section-B/
the foll

J
wing mod

CYi =Bt Bexit

."‘

%
.t

Gﬁaﬁ:ﬁﬁﬁ‘é
o

E k!} | J
~ Given the follo

hort note on the follo

._ B )',‘.I‘

Fre

*F*'

)

asurement scale of the

1\1
L") ¥
a -
-8

‘l

.‘ -

Prove its OLS estimators “BLUE”




